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Shean's KISS EBS

A major economic motivation of balanced reciprocity is to exchange surplus goods and services for

those that are in short supply. Shortfalls and surpluses can result from different levels of technology,

environmental variations, or different production capacities. But whatever the cause, balanced reciprocity
enables both parties in the exchange to maximize their consumption. The Indians of Oaxaca, Mexico,
exemplify balanced reciprocity in the exchange of both goods and services. According to social custom, a
man is expected to sponsor at least one festival celebrating a major saint’s day. Such an event, involving
elaborate food, beverages, and entertainment, almost always is beyond the capacity of a man to provide
by himself. Consequently, the man seeks the help of his relatives, friends, and neighbors, thereby
mortgaging his future surpluses. Those who help out expect to be repaid in equivalent amounts when they

sponsor a similar festival. *reciprocity Arsolol, A5 A **mortgage o &s|ct
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There is a long history of television and film stars making music as part of their careers. From the
“singing cowboys” of early Western films, to the Disney “teen idols” of today, many actors have
incorporated music into their lives and careers in some fashion. In some cases their music making is
directly associated with their work as actors, but in other instances it is entirely separate. Whatever the
case, it is certain that the impact of actors who also “do” music should not be underestimated. (1) Some
actors compose music for orchestras, some for use in films. 2) There are actors who write and perform
their own songs, either in a band or as solo artists. 3) And there are actors who simply have a music
career on the side in addition to their work on-screen. (5 In many cases their impact on popular culture
as musicians matches or exceeds the impact they make as actors. (Irdeed, when actors are also successful
musicians, their fans can enjoy their talents in many different ways, be it at the cinema, on the living
room television, or on the-carradio.)
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Martin Buber taught that there are two kinds of relationships: I-Thou and I-It. As an example of the
difference between the two, imagine heading to work on a daily route that includes a stop at one of the
corporate coffee chain stores. (C You place the same order each morning, get the same stuff, throw down
the money and pick up the change. This automatic, mechanical, “It’s early! I’'m sleepy!” interaction with
the person behind the counter is the kind of relationship Buber would call I-1t.) (B Then, one day, instead
of a muffin, you order a whole wheat bagel with no-fat cream cheese. The barista smiles and comments,
“On a diet?” and you are taken by surprise, to the point of embarrassment. Here you thought that the
counter clerk did not even recognize you, let alone remember what you eat.) (A The dull routine has
broke; you discover that, unbeknownst to yourself, your presence makes a difference. Leaving the shop,
instead of dragging with fatigue as usual, you realize your mood has lifted a little, thanks to the reaction
you received. Buber would say that this exchange was I-Thou.)
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In one study, students were told that a fellow student was gregarious and literary. When asked how
likely it was that he was an engineering major, they responded that it was very unlikely. (B However,
when asked how likely it was that he would start out as an engineering major but switch to journalism,
participants gave this possibility a much higher rating. But note that the likelihood that any given student
IS an engineering major is much higher than the likelihood that a student beginning as an engineering
major will switch to journalism.) (C Thus, although starting out in engineering and switching to
journalism seems more likely because journalism fits our ideas of what gregarious and literary people do,
it is far less probable than the likelihood of staying in engineering.) (A This error is called the
conjunction error. It is an error because people believe the conjunction of two events (majoring in
engineering and switching to journalism) is more likely than either of the events alone (majoring in

engineering or majoring in journalism), which is incorrect reasoning.) *gregarious A}w.A1Ql **conjunction 23t
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altruism; it is a matter of self-interest for the rest of the world.

“Always something new out of Africa," exclaimed a Roman emperor 2,000 years ago, and so it is today.
In the rainforest of the northeastern Congo, workers paid a pittance for their labors are digging from the
ground coltan, a atomic age to oil in the fossil-fuel era, Africa has always had what it takes — for the rest
of the world. But concern for Africa's well-being should not focus on the relentless acquisition of its
commodities. Africa's problems and the world's concerns coincide because the world is functionally
shrinking, and when one of the neighborhoods of the "global village" suffers more than any other from a

combination of maladies, the remedy benefits all. So assisting in the recovery of Africa is not mere
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Herbs are being embraced on a scale (A)unmatched for two centuries —not only in cosmetics, foods
and teas, but in domestic products, alternative medicines, even veterinary remedies. (O Just what
proportion of the original plant ingredients find their way into some of these products may be open to
question. @ The advertising world in particular has not been slow to play on worries about the
increasing quantities of man-made chemicals in the environment, @ and the images and virtues
associated with herbs have often been (B)merged into a vague green wholesomeness that may have little
to do with a specific plant or product. @ But collectively their message is clear and the western world
has seen an unprecedented revival of interest in herbalism and useful plants in the last two decades. Even
their images are everywhere — on fabrics, furniture, and street decorations. ® So as fossil fuels and the
chemicals that depend on them run out, it may not be (C)fanciful to see the chemical Age replaced by the
Age of plants. *unprecedented S#gl= **herbalism <Fx o] &
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Whereas touch, sight, and hearing are mediated by the cerebral cortex, the part of the brain responsible

5= Test 1: CHelm{e}, 6

for reasoning and intellect, the olfactory nerves pass impulses directly to the limbic system, the prefrontal
part of the brain where emotions are formed and memories are stored. Animals that depend upon their
sense of smell for survival have highly developed limbic systems. The limbic system is the primitive part
of the human brain that remains from the period of evolutionary history when, like the animals, we too
depended on our sense of smell for survival. The close relationship between the olfactory nerves and the
brain’s limbic system explains why aromas can produce such startling, powerful responses that may

resist logic. Such responses are usually immediate and sudden, springing from the depths of the human

psyche. *cerebral cortex ofx] oA **glfactory s7to] ***[imbic system (tfjx]2]) HAA
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A mnemonic device that uses imagery is known as ‘the method of place.” Here you form an association

T59= Test 20 oA, 19

between something you want to remember and a particular location on a familiar walk. (D Let’s say that
you have to present a speech about healthy eating habits in one of your classes and that your speech

consists of seven main ideas. @ You simply imagine yourself taking a very familiar walk. 3 As you pass

the first familiar landmark on that walk, you develop an image that somehow connects that familiar

landmark to the first point in your speech. For example, the image of a tree with a nest of baby birds
could help you remember that you have to begin providing healthy foods when children are young. @
You continue in this manner until you have developed an image connecting each point in your speech to

a landmark. ® Then, when it’s time to present the speech, you simply imagine that you’re taking that

familiar walk. *mnemonic 7]9lS ==
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Future food security now depends on raising water (Dproductivity not only in agriculture but in all

2+ EQE Test 3: CHemjet, 641

sectors of the economy — ranging from more water efficient household appliances to more water-efficient
irrigation systems. Of all the policy steps to raise water efficiency, by far the most important is
establishing a price for water that will reflect its value to society. Because water policies evolved in an
earlier age, when water was relatively (2)abundant, the world today is sadly lacking in policies that reflect
reality. Raising the price of water to Qreflect its value would affect decisions involving its use at all
levels and in all sectors. To be successful, the price should go up in @concert with what some countries
describe as “lifeline rates,” where individual residences get the amount of water needed to satisfy basic
needs at an easily affordable price. But once water consumption exceeds this (®minimum needs level,

then the cost would escalate, thus encouraging investment in water efficiency.
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Remembering is absolutely essential for understanding music. At any particular moment, only one
millisecond of a piece of music can be heard. What was sounded before that millisecond exists only in
your memory. What will be heard in future moments can only be a guess based on what was heard [A]
previously. It’s not like that with what you see. An entire painting or piece of sculpture can be seen in a
second or two. (B If memory were made an essential part of looking at a painting, it might be something
like this: An unfamiliar picture is covered except for one thin vertical opening. You can see the picture
only as that opening moves across the painting from one side to the other.) (A Your [B]comprehension of
the picture would result from: your memory of what you’ve seen, the tiny portion you could see at the
millisecond, and your guess about what would be revealed in [C]succeeding moments. Would this be a
difficult way to see a picture?) (C Definitely! But that is the way music is perceived, and that is why
memory is so important in listening to music.)
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The final major step in seed evolution occurred when a few gymnosperms learned to cover up. They

=95 Test 3: &4, 208

did it in much the same way people do after a bath, and for similar reasons. (1) At three years old, my son
Noah still uses the blue plastic tub we bought when he was an infant. (2) He can climb out on his own
now, but when he does | wrap him up immediately in a big fluffy towel. (3) I do this not out of some
disgust of nudity, but because his little naked body seems so vulnerable. (4) For me, it triggers an

instinctive parental response to protect and nurture. (5) While plants don’t run around making conscious

decisions about towels, the same evolutionary drive led one line of gymnosperms to wrap their naked

seeds, folding up the underlying leaf to enclose the developing eqg. Botanists call this chamber the

carpel and the plants that have one are known as angiosperms, Latin for “seeds in a vessel.”

*gymnosperm 24 212 **carpel A7 *** angiosperm &4 2 &
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(feat. =01 E )

Visualization is seeing the words of a text as mental images. It is a significant factor that sets proficient
readers apart from low-achieving ones. Studies have shown that the ability to generate vivid images
while reading strongly (Dcorrelates with a person’s comprehension of text. However, research has also
revealed that 20 percent of all children do not visualize or experience sensory images when reading.
These children are thus @®handicapped in their ability to comprehend text, and they are usually the
students who avoid and dislike reading because they never connect to text in a personal, meaningful way.
Active visualization can completely engross a reader in text. You have experienced this when you just
could not put a book down and you stayed up all night just to finish it. Skilled readers automatically 3
weave their own memories into text as they read to make personalized, lifelike images. In fact, every
person develops a unique interpretation of any text. This personalized reading experience explains why
most people prefer a book to its movie. Visualization is not @static; unlike photographs, these are
“movies in the mind.” Mental images must constantly be modified to (®incorporate new information as it
Is disclosed by the text. Therefore, your students must learn how to revise their images if they encounter
information that requires them to do so. *engross: =557 stk
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